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Part I / ¥ I
Mathematics / TifUTa

An observer standing at a point P on the | 1. T Ut 9% & 99 & Tk 9Tl i =i
top of a hill near the sea-shore notices that P R @l B Teh ST&TS ol STTTHA hiv 30°
the angle of depression of a ship moving 1 % | SRS Ueh THH 91 ¥ Teh e @ §
towards the hill in a straight line at a TRTE! i AR T W T 45 e & 9 5@
constant speed is 30°. After 45 minutes, I 45° B ST &1 Afe Hqg T % Th %@,
this angle becomes 45°. If T (in minutes) is foer foig P& STe1 T Ta-HT 107 60° T,
the total time taken by the ship to move to T T 1 FA gF (i H) TR @ T
a point in the sea where the angle of T T :
depression from P of the ship is 60°, then
T is equal to :
2 2

451+ — 451+ —
w 1 7] w1+ )

45(2 + i) 45[2 U Lj
(2) Ne (2) NG

45(1 + i) 45(1 + ij
®) NG €) Ne
(4) 451 +/3) (4)  45(1 + /3)
For all real numbers x, y and z, the | 2. x, Yy a4l z & gt arafas demed & ferg,
determinant ESINED

2x XY —XZ Y 2x Xy —xz Y
_ _ .2 _ _ .2
2x+z+1 xy—xz+yz—z= 14y is equal 2x+z+1 xy—xz+yz—z= 1+y
3x+1 2xy—2xz 1+y 3x+1 2xy—2xz 1+y
to: TR &
1) -y -2 (-2 1) -y -2 (-2
2 (-y2) (y—2) @) (-y2) (y—2)
B y—xz) (z—x) B y—x2) (z—x)
(4) zero 4) I3 0
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Let a;, ay, a3, a4, a5 be a G.P. of positive
real numbers such that the A.M. of a, and
a, is 117 and the G.M. of a, and a, is 108.
Then the A.M. of a; and a5 is :

1) 117
(2) 144.5
(3) 145.5
(4) 108

If the shortest distance between the lines
x+2N=2y=—12z, x=y+4N=6z—12\ is

4.2 units, then a value of \ is :

1) 2
2) 242
6 2
4) 2

If the digits at ten’s and hundred’s places
in (11)2916 are x and y respectively, then
the ordered pair (x, y) is equal to :

1) (61
2 @1
G @8

@) (16

(< ay, a,, ag, a, A1 a5 Teh YCH (e
st sl T TUIR 9@ € T a, dema,
HHIGR HEA 117 § Tl a, 991 a, 1 TUIR
e (G.M.) 108 B, Tl a, T a5 I FHIWR
meA Y

1) 117
2) 144.5
(3) 145.5
4) 108

e @l x+210=2y=—12z,

x=y+4N=62—12\ F &9 A9 g 442
SHE T, N HIThAA

1 2

2 242

) %

4 2

Ffg (11)2016 7 718 a1 Hohs oh T T hAsT:

Wxﬁ%y%,?ﬁ%ﬁﬁﬂ"’q(x,y)w%\':

@ 61
2 61
G @9

@4 (16
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An urn contains 5 red, 4 black and 3 white
marbles. Then the number of ways in
which 4 marbles can be drawn from it so

that at most 3 of them are red, is :

(1) 460
2) 490
(3) 495
(4) 455

If A and B are two independent events
such that P(A) = 1—30 and P(AUB) = %I

then P(A NB) is equal to:
M 10

@

If (x+iy)2=7+24i, then a value of
1 1

(7 + \/—576)5 — (7--576)" is :

Teh oW | 5 AT, 4 Tl 997 3 Gohe & © |
a3 qlenl, T8 Heret § ¥ 4 & e S

gahd ¢ T T8 9 stferss @ 1ferss 3 ot &,
H TSN T

(1) 460

(2) 490

(3) 495

(4) 455

afg A 991 B T T@dsl weA uH ¥ fw
3
P(A) = 15 T P(AUB)=§ g,

P(A NB) SR ¥ :

1
D 75
3
2 11
3
G 35
1
4 3

A (x+iy)2=7+24i T, A

1 1

(7 +V=576)% — (7 — V=576 ) i T A

1) 2 1) 2i
2) o 2 6
(B) —6i 3) —6i
4) -3 (4) -3i
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9.  Which one of the following points | 9. 4= # & Hi9-w1 fag srfamaaa
2 2
does not lie on the normal to the hyperbola, % - % =1 % foig (8,3/3) W i Ty
x2 yZ
T 9~ 1 drawn at the point s TR feera &t © 2
(8,3/3)?
1 1
12, — 12, —
o =) o [2 %)
2 (11,3) 2 (11,3)
(3)  (10,V3) (3)  (10,V3)
1 1
13/ T = 13, ——
o [0 %) o [5%)
10. The equation of the circle, which is the [ 10. 338 I <l eI, S ga X2 +y2—2x=0
mirror image of the circle, x>+ 1% —2x =0, 1 3@ y=3—x H gUu yfafda §, §
in the line, y=3—xis :
(1) x?>+y?>—8x—6y+24=0 (1) x?>+y*>—8x—6y+24=0
(2) x*+y*>—4x—6y+12=0 (2) P>+y*—4x—6y+12=0
(B) x*+y?>—6x—4y+12=0 (3) x*>+y*—6x—4y+12=0
(4) x*>+y?>—6x—8y+24=0 (4) x*>+y*—6x—8y+24=0
11. If an equilateral triangle, having centroid | 11. @?W@ﬁﬂﬁ, o g HqA 1%@ %, el
at the origin, has a side along the line, LEAEI el x+y=2 =! foom o %, a ﬁ‘ﬂﬁf
x +y=2, then the area (in sq. units) of this 1 &A% (a7 gt W) T
triangle is :
1) 63 1) 6v3
9 9
=3 =3
2 V3 2
3) 36 3 3J6
4) 6 4) 6
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12.  Which one of the following statements is | 12. ﬁﬁﬁﬁ@?—WW@W(Tautology)

a tautology ? g7

M pvip—9 M pvip—9
2 pv@—p 2 pv@—p
G p->@P—9 G po>@P—9
“4) (Pva—q 4) (Pvgy—q

13. If the line, y=mx, bisects the area of the | 13. fg Tt y=myx, &

region
3 2 3 2
{(x,y):0=sx= bY O<y<1+4x—x“}, then {(x,y):0=<x= bY O<y<1+4x—x“}=1 <
m equals : TR 9N H fauifsd At &, A m AT AR :
13 13
O 1 5
13 i1S
@ & @ &
39 39
G 16 G 16
9 9
@4 3 4 3

14. If the function f: R — R, defined by | 14. 3fS ®eH f:R - R, S

ax, x <2 ax, x <2
f(X)={ f(X)={

axz—bx+3, x =2 axz—bx+3, x =2

is differentiable, then the value of g afvyrfug %, AqH A %\, at
f'(=3)+f'(3) is equal to : F(=3)+f'G)FART :
1 4 1) 4
15 15
@ < @ 75
®) @) 0
4 3 4) 3
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15. LetS be the set of all real values of ‘a’ for | 15. HMI S, ‘a’ & Gt ar&dfaes AT i qg= g
which the following system of linear fSoer fau as g e
equations
ax+2y+5z=1 ax+2y+5z=1
2x+y+3z=1 2x+y+3z=1
3y+7z=1 3y+7z=1
is consistent. Then the set Sis: HTA (consistent) T A=aS
(1)  equal to R—{1} (1) R—{1} % s &
(2) equal to {1} (2) {1} R 7
(3) an empty set () THREeag=ag
(4) equaltoR (4) RFTRT
16. The value of + ; is: |16 L, ! HUEE
o ReVale ol 5285° | 3 sin255° " c0s285° /3 sin255° ‘
) 42 ) 42
O 5 O 73
22 242
2) — D & —
@ = @ =
®) V3-+2 3) 3-+2
4)  2v2 4) 2v2
17. The perpendicular distance from the point | 17. 1%@ G311 T TS gHad, S 1%@ (1,2, 3) T
(3, 1, 1) on the plane passing through the gHy @ ' odur g 9w =
point (1, 2, 3) and containing the line, > A A A
r=i+j+NQi+j+4k) f@E W
AN AA A
r=1+j+NQ2i+ j+4k), is: T[Sl T el ] e §
4 4
AN NG
2 0 2 0
3 3
® T ST
1 1
@ @ A7
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18. If A| and \, are the two values of A such | 18. afg A TETA,, A % TH § 9 g fo feumt
that the roots a and B of the quadratic FHIRT \(x2—x)+x+5=07% T o, B TH

equation, A(x2—x)+x+5=0 satisf . A A
4 4( ) NN Y %ﬁ3+ﬁ+§=0%ﬁr}\—;+)\—§w
g+E+—=0,ther1—%+—§isequal P oo 2 1
B o 5 }\2 )\1 %:
to:
(1) 512 (1) 512
(2) 504 (2) 504
(3) 488 (3) 488
(4) 536 (4) 536

2
19. The product of the perpendiculars drawn | 19. ¥gq 4 Z—S =1 =t T | 39k foig

9

from the foci of the cllipse, - 4 1 3 53 e
rom the foci of the ellipse, 5 +E:1 (E’ 2}11 it T et Y W TR T
upon the tangent to it at the point el 1 TR & -
3 53
22 )

189 189
1) 13 (1) 13
(2) 18 (2) 18
3) 3J13 3) 313
“4) 9 4) 9
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T4 *T4

dx dx
20. The integral J. T L35 isequalto: | 20. HHA R T
1+ 3tan2x 1+ 3tan2x
17 T,
24 24

1) = 1) =
4 ar
@ & @ %
v T

G 135 G 1
4 = g =
@ 3 @ 3

21. i log (sin7x + cos 7x) equals : 21, giy log (sin7x +cos7x) qrex § -
x—0 sin 3x x—0 sin 3x
L, L, 1
M m
2 1 2 1
@ 3 @ 3
1 1
(3) glog 7 (3) —log 7
9 - o L
@ 3 @ 3
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22. If A and B be two finite sets such that the | 22. Jfe A Jen B <1 uffyq qg= s gfrA®
total number of subsets of A is 960 more A ITFHHA G, B Fol TG
than the total number of subsets of B, then HT G | 960 AfYE T, @ n(A)—n(B)
n(A) —n(B) (where n(X) denotes the (Trlﬁn(X), = X o 3Tl o1 HEAT 9l
number of elements in set X) is equal to : %’) TR T
¥ 3 1 3
2) 4 (2) 4
() 6 3 6
4 2 4 2

x+2 x+2
23. The integral dx | 23. HHERA dx SR
8 I(x2+3x+3)\/x+1 I(x2+3x+3)\/x+1
is equal to : e
2 tan! | —— | +C = tanl| o= +C
O BZ | B O BF | B+
l—=—|+cC = |+c
() fcot 1 + (2) \/_cot 11 +
1 -1| X 3 C 1 t_l x~/3 C
@ Fe | Jarr |t G F | T
— tan| —— +C Ltan | ——|+C
@ B | Bt @ B3| B+
(where C is a constant of integration) ( el C Ueh FHIheH 3R § )
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-

- - -
24. Three vectors a, b and E} are such that | 24, <9 gfewr a, b quT ? g ¢ f*

2l [Bl =2, [ =g ana P P P
:+§+?=6>.Thenthevalueof :+_b>+z>=8%,?ﬁ

4:-_b) + 33? + 3?-: is equal to : 4:-_b> + 33? + 3?-: HAE T :
1) -26 1) -26

Q) -34 ) -34

3) 27 3) 27

4) —68 4) —68

25. Theorder and the degree of the differential | 25. 37 [t a“rﬁqﬁ, ISEEIRE T HA foig 7 <

equation of all ellipses with centre at the .
4 . P . e, -3 ) feen B & Ao Sekwan VO R, ¥
origin, major axis along x-axis and >

eccentricity ? are, respectively : STHT FHIFT Hl Hfe T G F: €
(1 2,1 (1 21
2) 1,2 2 1,2
3) 22 B 22
4 1,1 4 1,1
26. If the sum of the first 15 terms of the series | 26. &afq JON 3+7+14+24+37+ .. ... & o
B+7+14424+37+ .. ... is 15 k, then k 159 I AMI5 k8, T k R T
is equal to :
(1) 81 1) 81
(2) 119 2) 119
(3) 126 (3) 126
(4) 122 4) 122
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27. Two numbers are selected at random | 27. YIHS: Wﬁﬁﬁﬁﬂ@ﬁ(mm
(without replacement) from the first six %) AgesA A T | AR X I H H B
positive integers. If X denotes the smaller & S YIRid &wL@l §, a1 X &1 geamn
of the two numbers, then the expectation (Expectation) T
of X, is :

L, B L, B
1 3 D3
2 z 2 7
@ 3 @ 3
3 2 3 2
@ 3 ®) 3
, 1 , 14
@ 3 @ 3

28. A bag contains three coins, one of which | 28. Teh %ﬁ?ﬂ?f@'ﬁ?% 979 9 e & I 3R
has head on both sides, another is a biased o &, <80 faeem Sy (biased) T 58 ™
coin that shows up heads 90% of the time o1 90% SR Wehe BT © IR Tem sHfvea
and the third one is an unbiased coin. A fogm &1 91 § 9§ s fagent aigssan fema
coin is taken out from the bag at random IV 1| Afe Foees R o yawe &, @
and tossed. If it shows up a head, then 3T AT TR B At WIfehar © :
the probability that it is the unbiased coin,
is:

1 > 1 &
1) 5 D %
) = n L
@ 3 @ 3
Ny 2 y 2
G 3 G 3
H = o
4 3 ST
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29. The sum of the abscissae of the points | 29. 37 foigali & x-frcztisnl =1 am, el a5

where the curves,
y=kx?+ (5k +3)x + 6k +5, (keR), x-37&7

y=kx2+ (5k +3)x + 6k +5, (keR), touch %I T A E, T

the x-axis, is equal to :

10 10
O 1 3
5 5
@ 3 @ 3
4 4
G ~3 G 3
19 19
4 3 @4 5

30. Water is running into an underground | 30. T& Y[ @dl I YR oI, i1 10 H.

right circular conical reservoir, which is el e S ereh 3mYR =t 5= 5 1. %, gt
10 m deep and radius of its base is 5 m. If ST T Al Taht o T o STIGH § qREA
the rate of change in the volume of water = o %Tr 3 /f 3, A ¥ T o
in the reservoir is %Tr mS/min. , then the - (H'T,/ﬁ?, § ) R T %,
rate (in m/min) at which water rises in it, g:

when the water level is 4 m, is :

1 1
1 = ® 3
1 1
2 7 @ 3
3 3
6 5 ® 3
3 3
4 3 @ 3
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Part II / YT 11
Aptitude Test / 3Tfr&fer aireror

31. IGBC stands for : 31. STE.SiaH. fFg =1 ydieh T2
(1) Indian Green Building Council (1) ¥R B wed 9ivg
(2) Indian Great Building Center (2) YR IS HAT 6
(3) Indian Government Biological (3)  YRAT SRR Sifeh g
Center
(4) International Great Beautiful City (4) ST TS R ;M

32.  Which one of the following is not a load | 32. fr=fafgd & & A G I H YR 33M el

bearing component in a building ? feem el 82
(1) Beam (1) IEAR
(2) Partition wall 2) faasH R
(3)  Concrete floor slab (3) <hshic I WYl gfed
(4) Column (4) TR
33. Ellora temples are : 33. Toall & HfgT :
(1)  Built in sandstone (1) o el Teek 9 a1
(2) Cut out of rock (2) TERHAFEFLE
(3)  Built in wood 3) oHSHaE
(4) Made in marble (4) TR YT

34. Solar energy is converted to electrical | 34. ¥ ol ford ¥ fosrelt # iafda Bt g7

energy by :

(1) Electro magnets (1) faga gt

(2) Bio technology (2) g rehfient

(3) Rain water (3) oS I AT

(4) Photovoltaic cells (4) TRIRMEICEE® Hed
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35. Salim Chisti mosque is located in : 35. Geim ferwdt o1 HeheT el W feord 72
(1) Fatehpur Sikri (1) hdsqX faed
(2) Hyderabad ) THER
(3) Delhi (3) fooett
(4) Gwalior (4) TETieTER
36. Temperature of the Earth due to the | 36. Xl ol aT9HM ‘I T=E Yu&' 4 :
‘Greenhouse Effect’ :
(1) Decreases (1) = g
(2) Remains constant (2) U GHM T&dl 7
(38) Keeps increasing/decreasing (8) &dl/=dn GEdl 7
(4) Increases (4) Fed®
37. Which color is obtained by mixing red and | 37. I g Y 1 e 9 I G T ST g ?
yellow colors ?
(1) Pink (1)  Terrsit
(2) Orange (2) Had
(3) Brown 3) YU
(4) Purple 4) ST
38. Which type of roof will provide maximum | 38. fr=fafaa o S BA oAl § T fafw
protection from heat radiation in a q Hol 3ferek e <t ?
building ?
(1) Concrete slab with plaster (1) hshie dfeal TR & Y
(2) Concrete slab with mud and brick (2) hehie ufean figt Ta €2 wt <R &
tiles |
(3) Concrete slab, water proofed and (3) 1 S, ITFEd § THI g8 hohle
covered with a roof garden qfean
(4) Painted aluminium sheeting (4) Oft wgfafm ==
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39. Gol Gumbaj of Bijapur is : 39. SIS I TMieT T

(1) A Mausoleum (1) T& Tl &
(2) A Palace (2) THHEAT
(3) A Mosque (3) T ARSE
(4) A Fort 4) U fwpen?

40. The ruins of Hampi are located in which | 40. T&f & Gt frd T3 H feora g7

State ?

(1) Andhra Pradesh (1) 7Y 9=
(2) Kerala 2)

(3) Tamil Nadu (3) dfHerrg
(4) Karnataka (4) HAleH

41. Vertical sun protectors over wall openings | 41. &gl o @1 ol Te IS Wiaeh P fhuol

help in cutting off summer sun rays on : %1 ford foem & red €2

(1) Westside (1) 9= |E

(2) North side (2) I H TWH

(3) Onall sides B) ®T|dH

(4)  South side (4) <feor i WH
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42. Buland Darwaza is located in : 42, o e fhe H R 82
(1) Red Fort (1) e feen
(2) Agra Fort (2) 3T I fomen
(3) Golconda (3) TieTshie
(4) Fatehpur Sikri (4) deR fawd
43. What is Venice famous for ? 43. of9 feE & fog Aem &2
(1) Mountains (1) vad
(2) Valleys (2) wfeat
(3) Springs (3) =
(4) Canals 4) &
44. BigBenisa: 44, fTSTITFMT?
(1) Palace 1) wed
(2) Mosque (2) Hi&E
(3) Temple (3) HfX
(4) Clock Tower (4) HI W
45. Pyramids are located in : 45. foufie e feem €2
(1) Egypt (1) s
(2) Greece () W=
(3)  Ethiopia (3) st
(4) Rome @4 ™
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Directions : (For Q. No. 46 to 48). The 3-D problem figure shows a view of an object. Identify the
correct front view, from amongst the answer figures, looking

in the direction of arrow.

al
a
ln:

1) (2) ®)

fdor: (9. 46 @48 & fomw )| 3-D F¥7 3Tla § U a5 & T 599 &1 fe@rar 7 &1 ik
#1397 o 3@ g $9% Ta THYE 99 Pl I HIaEal 4 G
YT |
Problem Figure / 97 3I&hid Answer Figures / 3tX 377?’7%/?#
46.
] ]
H ] PO 1
1) (2 ®) )
AN
47. i N _ _
A |
- il N s N el
(1) 2 ®) @)
~N
48. %?
~N

Directions : (For Q. No. 49 and 50). The problem figure shows the elevation of an object. Identify
the correct top view from amongst the answer figures.

fdor : (7 49 3ikv50 & fow )i v STFla O fhal a5 F THE §VT Q@ T 81 S
STl 4 G $THT T&l W g9F TgAn1d |

Problem Figure / 97 3I&hld Answer Figures / 3t ST

49. P
1) 2 ®) (4)
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Problem Figure / 997 3fIhfd

Answer Figures / 3t ST

(1) (2) ) (4)
Directions : (For Q. No. 51 to 54). Which one of the answer figures is the correct mirror image of
the problem figure with respect to X - X ?
fAE9r : (7. 51 @54 @& @) ST P & T BHi7-Tl STFHIT 5T T G597 SHT FXK - X G
eI el THT Fidler & 7
Problem Figure | 7 3fhld Answer Figures / 3t 377?7'/%‘#
X
" 48 W W W
X @) (2) () (4)
X
X @) (2) () 4)
X
B s BE K
1) (2) ) (4)
X @ (2) ) (4)
Y/Page 19 SPACE FOR ROUGH WORK / T% @14 & feu wmrg

YouTube Facebook Instagram Twitter Pinterest



https://careerdost.in/exams/jeemain-exam
https://www.youtube.com/c/careerdost?sub_confirmation=1
https://www.facebook.com/careerdost.in
https://www.instagram.com/careerdost.in/
https://twitter.com/careerdost
https://pinterest.com/careerdost

Directions : (For Q. No. 55 to 57). Which one of the answer figures shows the correct view of the
3-D problem figure after the problem figure is opened up ?

T : (W55 @57 & @) | 3-D F¥7 3MPId & Glerd W, W Hiadl § & &l 599
FIT-TT 8 ?

Problem Figure / 97 3I&hid Answer Figures / 3tX 37@"7%/?#

Al L

g IR SRS AR

L L L L

1) ) €) (4)
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Directions : (For Q. No. 58 and 59).

fdor : (7 58 3T 59 & femw )i

Problem Figures | J97 3777?'7%R7f

bl

-~

58.

~J

59. i

Directions : (For Q. No. 60 to 62).

f[E9r: (.60 62 & forw ) |

Problem Figure / F97 3Thld

Which one of the answer figures will complete the sequence of
the three problem figures ?

I Hla 7 G FI7-TT SHT B d17 F97 TFHEl 5
G 3774 (sequence) T & ST 2

Answer Figures / 3tX 3'7757"7%?#

& ég% =
ey 2 3) )
OX= OX= X< O X=
0 I =
&y @) 3) )

The 3-D problem figure shows a view of an object. Identify
the correct front view, from amongst the answer figures, looking
in the direction of arrow.

3-D F¥7 3hld & T 9% & TF g99 &1 fe@rr 7w &1 ak
%1 1597 o 7@ §U 59 Te! THYE 99 Pl I HIaEl 4 G
TEIT |

Answer Figures / 3t¥ 377?»’7%/2#

60. _ _ I
@™ 2 ®) “)
A
61. _ _ _ _
] H]  H -]
@ 2 ®) @)
e
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Problem Figure / 97 3Tehid Answer Figures / 3tX 3777?"7%/27?

62. _ — — —
| — | |
@ (2) 3) (4)
/
Directions : (For Q. No. 63 to 66). The problem figure shows the top view of objects. Looking in

the direction of the arrow, identify the correct elevation, from

amongst the answer figures.

591 : (763 @66 & @)1 T 3TPIT H aeg3il 1 HUR g9 fe@rar T &1 air #t e §
39 gY W MHaa 4 T g THE g9 gAY |

Problem Figure / H37 377}'7%’ Answer Figures /| 3 377?’7%?#
63.
© 00 i }T\ A % i ﬁﬂ WTWHW
Sl
(1) 2) (3) (4)

i

99l mlii oAl B D
1) ) (3) (4)

65.
N /WYM /WYM M NWM
< M\
X X
T 1) 2 3) (4)
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Problem Figure / F97 3Thld Answer Figures / 3t¥ 377?»’7%/2#

oS il Bl p R

1 (1) (2) ®) (4)

Directions : (For Q. No. 67). Onmne of the following answer figures is hidden in the problem figure
in the same size and direction. Select the correct one.

e : (767 & for@) 1 T4 51 7 W FHaEl H T UF 3pla 79 3R fevw 7 qHrT w7 4
g9 37l § g9 &1 F-9 ga & g

Problem Figure | 7 3fhld Answer Figures / 3t ST

67. [T _J,EII ﬂ H 0 .
%r_ —IJ 1) (2) ®) )

Directions : (For Q. No. 68 to 70). The problem figure shows the top view of an object. Identify
the correct elevation from amongst the answer figures looking
in the direction of the arrow.

fdor: (9. 68 @70 & fow) T¥7 FHIT H (HEl a5 HT SRT g9 @ T &1 AR Ht
19T 3% §U SR STFaal 4 G §HHT T&l GgE 599 Tei-14 |

Problem Figure / 97 3Tld Answer Figures / 3t 377§Iv7%ﬂ7f

68.
: é é é é
(1) ) ©®) @)

i

oy o
T 1) V) 3) 4)
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Problem Figure / 97 3Tehid Answer Figures / 3tX 3777?'7%/?7?

70.
| [ | ] [
| | | | | |
i O 2 3) (4)
Directions : (For Q. No. 71 to 74). The 3-D figure shows the view of an object. Identify the correct
top view from amongst the answer figures.
FAdor: (@71 @74 % fom) 3-D F¥7 37FHId § T a5 3 T §9F &1 [G@rar T &1 9%
el SR 599, FH HaT § G vgan+4 |
Problem Figure /97 3&hid Answer Figures /| 3 377?’7%/?#
71.
1) (2 3) (4)
72.
L[ LU L[ [ |
=1 i i A
) ) () @)
73.
L L [ ] L U L
1) 2 3) (4)
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Problem Figure / F97 3Thld Answer Figures / 3t¥ 377?»’7%/2#

¥

L L] L 4‘_::
= = |

1) ) 3) (4)

Directions : (For Q. No. 75 and 76). Find the odd figure out of the problem figures given below.
fder : (@ 75 3t 76 & for )1 T &1 T gvT ShFhrE ° Qv sHfa vEEntd |

75. A\
(1)

R ONE
(2) (3)

4)
76.
@) (2) (3) (4)
Directions : (For Q. No. 77). From the top view given in the problem figure identify the correct
3-D figure from amongst the answer figures.
fAdor: (7 77 % for@ )1 3 T g A F SR §99 F Tl 3-D T Flad d F

g |

Problem Figure / F97 3Thld Answer Figures / 3t¥ 377?»’7%/2#

77.

1|

(1) (2) ®) )
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Directions : (For Q. No. 78 to 80). Identify the correct 3-D figure from amongst the answer figures,
which has the same elevation, as given in the problem figure
on the left.

fEor: (W78 @80 & forw ) | 3-D W STFiEl § T 39 TP &l TeaiTd o7 F, G gE
§v T 3TFId & ferdl &t

Problem Figure / 97 3T&hid Answer Figures / 3t ST

- &g
M @ ©)

(4)
. I B &
1) 2 3) (4)
1) 2 3) (4)
-00o0-
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